SELF STORAGE SPACE ESTIMATOR AND INVENTORY SHEET

Our units are 10 feet in height but most people don't like to stack items much higher than 8 feet. In our units stacking 8 feet is perfect as it leaves plenty of air flow at the top of the unit, which is an important feature. The following calculations are based on items being maximized in the unit and stacked to the full 8 feet.

Space Size	Square Feet	<u>Cubic Feet</u>
5 X 5	25	200
5 X 10	50	400
5 X 15	75	600
10 X 10	100	800
10 X 15	150	1200
10 X 20	200	1600
10 X 25	250	2000
10 X 30	300	2400

Suggestions for storing in various sized storage units:

5 X 5

Several Boxes and small items such as TV's, Shelving units, end tables.

5 X 10

A sofa and a chair, chest of drawers or dresser, mattress set, plus small items and boxes. Outdoor furniture, lawn mowers, garden tools, bicycles.

5 X 15

Everything associated with a studio apartment.

10 X 10

Furniture and boxed items from a one-bedroom apartment without the appliances.

10 X 20

Furniture and boxed items from a two-bedroom house with appliances. May also be used to store a standard size car or pick-up truck.

10 X 25

Furniture and boxed items from a three-bedroom house with appliances. May also be used to store a standard size car or pick-up truck plus other small items.

10 X 30

Furniture and boxed items from a four-bedroom house with appliances. Will hold the contents of a 40ft. moving van.

INVENTORY SHEET

BEDROOM

No.	Article	Cubic Feet	Total Cubic Feet
	Bed Base and Frame	10	
	Bed, Rollaway	20	
	Bed, Single	40	
	Bed, Double	60	
	Bed, Queen	65	
	Bed, King	70	
	Bed, Bunk (Set 2)	70	
	Chair, Arm or Rocker	15	
	Chair, Stuffed	25	
	Chest of Drawers	25	
	Chest, Cedar	15	
	Clothes Basket/Hamper	3	
	Desk, Small	22	
	Dresser, Vanity with Bench	23	
	Dresser, Single	30	
	Dresser, Double	40	
	Dresser, Triple	50	
	Night Table	5	
	Throw Rug 10' X 12'	10	
	Throw Rug 5' X 8'	6	
	Wardrobe, Small 36" X 60" X 18"	25	
	Wardrobe, Large 48" X 78" X 24"	50	

DINING ROOM

Buffet (Base)	10	
Bench, 2 person	10	
Hutch, Top	20	
Cabinet, Corner	20	
Dining Table	35	
Chairs	5	
Server	15	
Tea Cart	10	
Throw Rug 10' X 12'	10	
<u> </u>		

LIVING ROOM

No.	Article	Cubic Feet	Total Cubic Feet
	Bar, Portable	15	
	Bookcase, 15" x 24" x 72"	20	
	Cabinet, Curio	10	
	Chair, Straight	5	
	Chair, Arm	10	
	Chair, Rocker	12	
	Chair, Occasional	15	
	Chair, Overstuffed	25	
	Chest, Cedar	15	
	Clock, Grandfather	20	
	Coat Stand	6	
	Day Bed	30	
	Desk, Small	22	
	Desk, Secretary	35	
	Entertainment Center 48" x 60" x 24	" 40	
	Fireplace Equipment	3	
	Footstool	2	
	Home Theatre 4 pcs. 6 spkrs.	20	
	Lamp, Floor/Pole	3	
	Magazine Rack	2	
	Sofa, Rattan/Wicker	10	
	Sofa, Sectional, per section	30	
	Sofa, Loveseat	35	
	Sofa, 3 Cushion	50	
	Sofa, Hideaway, 4 Cushion	60	
	Stereo, Component	8	
	Tables, Drop Leaf	12	
	Tables, Coffee	5	
	Tables, End	4	
	Throw Rug 5' x 8'	6	
	Throw Rug 12' X 12'	13	
	TV, Portable 13"	3	
	TV, Table Model 27"	10	
	TV, Console 27"	15	
	TV, Stand	4	
	Trunk	6	
_			

BUSINESS / MISCELLANEOUS

No.	Article	Cubic Feet	Total Cubic Feet
	Bookcase 15" x 24" x 72"	20	
	Box, File, Bankers Box	4	
-	Box, Small, Book Box	4	
-	Box, Medium	5	
-	Box, Large	6	
-	Box, Wardrobe	10	
-	Card Table	2	
-	Computer	6	
-	Credenza, 6'	10	
-	Folding Chair	2	
-	Cot, Folding	8	
	Desk, Office 72" x 30"	35	
-	Fan	2	
-	Filing Cabinet, 2 Drawer	10	
-	Filing Cabinet, 4 Drawer	20	
-	Filing Cabinet, Lateral, 2 Drawer	28	
	Ironing Board	2	
	Heater, Gas/Electric	5	
	Metal Shelves, 6'	30	
	Power Tool	1	
	Power Tool Stand	4	
	Printer	12	
-	Room Panel Dividers 6'	20	
-	Suitcase	6	
-	Table, Utility	20	
	Tire w/rim	3	
	Tradeshow Display 10' x 10' (3 cases	s) 30	
	Utility Cabinet 6'	30	

NURSERY

2	
8	
2	
20	
3	
5	
12	
5	
10	
4	
10	
5	
	2 8 2 20 3 5 12 5 10 4 10 5

SPORTING EQUIPMENT

No.	Article	Cubic Feet	Total Cubic Feet
	Bar Bells 150 lbs.	3	
	Bicycle	6	
	Bowling Ball & Bag	2	
	Canoe 14'	70	
	Exercise Bike	6	
	Game Table	15	
	Golf Bag	5	
	Ping Pong Table	40	
	Pool Table	80	
	Row Boat 16'	120	
	Sled, 1 person	4	
	Tackle Box / Fishing Rod	3	
	Toboggan	5	·
	Tricycle	4	-

PORCH & OUTDOOR

BBQ Grill, Small	8	
BBQ Grill, Large	20	
Chairs, Folding	2	
Chairs, Stacking (4)	6	
Chairs, Stationary	5	
Chaise Lounge	8	
Garden Hose & Reel	4	
Glider or Settee	20	
Ladder, 6' Step	4	
Ladder, 8' Metal	6	
Ladder, 16' Extension	8	
Lawn Mower, Push	5	
Lawn Mower, Riding	35	
Lawn Mower, Cart, etc.	8	
Outdoor Child Slide	10	
Child Gym	20	
Swing Set	30	
Picnic Table	20	
Picnic Bench	5	
Sand Box	10	
Umbrella	5	
Wheelbarrow	8	

APPLIANCES

No.	Article	Cubic Feet	Total Cubic Feet
	Air Conditioner, Small	6	
	Air Conditioner, Large	9	
	Dehumidifier	3	
	Dishwasher	20	
	Freezer, 10 cu. ft. or less	30	
	Freezer, 11 to 15 cu. ft.	45	
	Freezer, 16 to 20 cu. ft.	60	
	Range, 20" wide	10	
	Range, 30" wide	15	
	Range, 36" wide	30	
	Refrigerator, 6 cu. ft. or less	30	
	Refrigerator, 7 to 10 cu. ft.	45	
	Refrigerator, 11 to 15 cu. ft.	65	
	Sewing Maching, Portable	3	
	Sewing Maching, Console	10	
	Trash Compactor	10	
	Vacuum Cleaner,	3	
	Washing Machine	25	
	Dryer	25	

KITCHEN

Breakfast Table	10	
Chair	5	
Kitchen Hutch	30	
Microwave Oven	10	
Serving Cart	15	
Stool	3	